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wiEE BRICET2RKENMOREREL AR ES

% # s - BRHE s ¥ 8 i & & =
BRI 4,344,500 + 1,891,215 6,235,715
EEAGHE 4,344,500
EERE 1,891,215
Z Ot [ 1 4,344,500 x 53.85% ( 35% + (1 — 35%) ) 2,339,513
KB RE 6,235,715 + 2,339,513 8,575,228
—REEERE 8,575,228 x 53.85% ( 35% = (1 — 35%) ) — 2,988 4,614,772
EX T 8,575,228 + 4,614,772 13,190, 000
HETEELE 13,190,000 x 10.00% 1,319, 000
¥BERAH 13,190,000 + 1,319, 000 14,509, 000




BERNRE (285115 BB D8 AR L SR B 2 7
2 o B - AR B 2 i ¢ %@
EiER{ 6,235,715
BECHATLEKENORLRENARTER 6,235, 715
BECHATLEKENOR L RENARTER 6,235, 715
EHiEAHKE 4,344,500
ETE#EE 433, 500
1 EHE#EfE 1.00 433, 500 433, 500
=
BEEOHME - 18 306, 700
2 BEOHYE - BB 1.00 306, 700 306, 700
Y
AP Y k- 319, 500
S EFTUVIHRE 1.00 319, 500 319, 500
=
ERXBE DB 992, 200
4 ERXBEDOERME 1.00 992, 200 992, 200
=
BEEFA L EKEDOR L IEERAL 353, 900
FEDBE
5 BEAFMAL-ERKEDOHLBREM 1.00 353, 900 353, 900
AiE B EDRE i
=
REREIEDEE 1,024, 600
6 SLEREEDENE 1.00 1,024, 600 1,024, 600
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£ [ I - KT B H = B {f £ % W =

g - |E 441, 200

S 1.00 121, 800 121, 800
=

8 HRHRE 1.00 121, 800 121, 800
=

9 BRERRE 1.00 197, 600 197, 600
&

REY 472,900

10 £EBTREEER 1.00 472,900 472,900
=®

BEERE 1,891, 215

ERARE 39, 033

EZ Y 1.00 39, 033 39,033
=®

D 34, 000

12 £BHES 1.00 34, 000 34,000
=®

Z0ft 1,818, 182

13 RBHEORE 1.00 1,818,182 1,818,182
=®
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2 b g - BRKTE BAGL H = B {f & # W = 5 &
HEn&
A 1.00 75, 800. 00 75, 800
EXEE: T HEH))
A 1.50 64, 800. 00 97,200
AR (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
& it YE¥REH : 1.00 433, 500. 00 433, 500
EF5:2
& ZEOHE - B 1KLY
£ b R - BRRTE B H = B € & = i &
F{EHAm (B&ED
A 1.50 64, 800. 00 97, 200
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47,200
HEm (C)
A 2.00 38, 400. 00 76, 800
& B YE¥REH : 1.00 306, 700. 00 306, 700
=:3
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£ b R - BRTE B H = B € & = i &
AR (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 2.50 38, 400. 00 96, 000
BT &
A 2.00 33, 600. 00 67,200
& B YEXREH : 1.00 319, 500. 00 319, 500
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A 4.00 64, 800. 00 259, 200
A (A)
A 5.00 57, 000. 00 285, 000
BER (B)
A 4.00 47, 200. 00 188, 800
HEm (C)
A 5.00 38, 400. 00 192, 000
B &
A 2.00 33, 600. 00 67,200
A& i fEZRES - 1.00=% 992, 200. 00 992, 200
&S :5
&% BEZMAL-EKEDOE L (RENSILARDORE 1LY
4 5 R - BRTR B 2 i o) fi
EXEETHEH))
A 1.50 64, 800. 00 97,200
BER (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 2.00 47, 200. 00 94,400
BER (C)
A 2.00 38, 400. 00 76, 800
& it YEZEEH - 1. 00K 353, 900. 00 353, 900
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2 L R - KT By = B i %8 W = 5 &
F AR GRED
A 4.50 64, 800. 00 291, 600
HEm (A)
A 5.00 57, 000. 00 285, 000
A& (B)
A 4.00 47, 200. 00 188, 800
HEm (C)
A 5.00 38, 400. 00 192, 000
BT &
A 2.00 33, 600. 00 67, 200
& B YE¥REH : 1.00 1,024, 600. 00 1,024, 600
&S 7
& BRIHE HEED
% E R - kTiE By = B %8 = i &
F T HED BRED)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57, 000
& it YEZHRES : 1.00[H 121, 800. 00 121, 800
&S :8
B RS HEED
% E A - kTiE By = B %8 = i &
F A GRED
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57, 000
& &t YEZREH - 1.00[E=] 121, 800. 00 121, 800
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& RBRJRE HEED
% E A - kTiE B H = B = % = i &
AR
A 1.00 75, 800. 00 75, 800
F{EEED BRED)
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
& it YEZEEH - 1.00[E=] 197, 600. 00 197, 600
ES:10
2 EBTRREEK 1KLY
% E R - kTiE B H = B = % = i &
F T HED BRED)
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 3.00 38, 400. 00 115, 200
& it YEZEEH - 1. 00K 472, 900. 00 472,900
=: 1
& EERARE 1KLY
% E A - kTiE B H = B = % = i &
EERARE
= 1.00 39, 033. 00 39, 033
& R fEEfEH - 1.00K 39, 033. 00 39,033
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HE5:12
% g B - KT B = B Off £ S w &
EBREME
= 1.00 34, 000. 00 34,000
a8 &t e 1. 00K 34, 000. 00 34,000
&HE5 13
&2 ABREEORE 1%
% g B - BT B4 2 B @ ] wm = w &
RKEY - ERkE
= 1.00 763, 636. 00 763, 636
BEERERMER
= 1. 00 2217,274.00 221,274
ERRE - /N>y - BEER
= 1.00 363, 636. 00 363, 636
BLEE
= 1. 00 190, 909. 00 190, 909
L&A
= 1.00 272,721.00 272,721
= &t EEHESD - 1.00K 1,818,182.00 1,818,182




